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The current is the same In
any cross section.
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The current into the
junction must equal
the current out

(charge is conserved). i /

(a)

(0)
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Current is said to be due to positive charges that
are propelled by the electric field.
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If the current is nonuniform, we start with a

[
We want the current in the area ring that is so thin that we can approximate Its area is the product of the
between these two radii. the current density as being uniform within it. circumference and the width.

(a)

() ()
The current within the ring is

the product of the current density
and the ring's area.

Our job is to sum the current in
all rings from this smallest one ... ... to this largest one.

(d) (e)
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